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Topic:- General Knowledge and Logical Knowledge

1) On which river is the Hirakud Dam built? / W ETV'EI fog 7ﬁﬁ L'EY fafda %?
1. Krishna / ™I

2. Mahanadi / gl

3. Kaveri / TR}

4, Naramada / '_‘W:TET

Correct Answer :-

e Mahanadi / He '_‘|Ef

2) Who among the following presided over the historic Lahore session of INC ? / Frafafaa o 3 e GTIg'ET'Fﬁ
& RfeTie ATER A Y SreHe B2

1. Jawaharlal Nehru / SIdTgxcllcl '3'165
2. Motilal Nehru / Al 9%
3. Gandhiji / TTieft ST

4. Mohammed Ali Jinnah / JeH& 3felt fora

Correct Answer :-

« Jawaharlal Nehru / STATRTd g%

3) Complete the series choosing the missing number: / &l AT gD YTl Eal T PifoTg:
1,511,19,29,

1. 42

2.48

3.41

4. 34

Correct Answer :-

4) The series given below contains a sequence of numbers. Identify the incorrect combination: /& Tlg W?IT ﬁ,

TE13Mf BT TP HH IUTRI & | Ted JaIe Ugan—g:

8,13, 21, 32, 47, 63, 83



1. 47
2.13
3.32

4. 63

Correct Answer :-

. 47

5) Complete the series choosing the missing number: / G U TADBR Yl Ed| T P
1,2,6,24,120,

1. 230

2.435

3.720

4. 650

Correct Answer :-
o 720

6) If QUICK is coded SSMYQ, then how will CHICKEN be coded? / f¢ QUICK & sSSMYQ & Hifed far sirar
8, df CHICKEN & &3 Pifsd frar w2

1. EFNYQYV
2. EFMXQYV
3. EFMYOYV

4. EFMYQYV

Correct Answer :-

« EFMYQYV

7) Which state in India has the lowest population? / HRd T ford 350 § 9 $H SN E %?
1. Mizoram / ﬁl\—rhm

2. Sikkim / RifpH

3. Meghalaya / 2| G}

4. Tripura / ﬁ'ERT

Correct Answer :-

« Sikkim / fafg®mA

8) Which city was the capital of India from 1772 to 1912? / B TT e T 1772 | 1912 TP HIRd I IS
Y17

1. Calcutta / Dbl



2. Daulatabad / SIIATETG
3. Delhi / feed!
4. Bombay / CIEs|

Correct Answer :-

e Calcutta / h Dbl

9) Which one of the following rivers flows between Satpura and Vidhya ranges / fraafaid g CaE ki) qdYRT

3R faen udawransit & &g a5t 82
1. Sabarmati / JTSRHT

2. Narmada / THaT

3. Machi / ATt

4. Tapi /T4t

Correct Answer :-

e Narmada / :lria

10) The largest National Park in Madhya Pradesh is / H&d U &1 9a9 981 Tl'g’m Jeq %
1. Sardarpur / IRGRYR

2. Sanjay Sagar / Jold IR

3. Chambal / I ¢T

4. Kanha / dTal
Correct Answer :-
e Kanha / dTgl

11) If the first day of the year (other than a leap year) was Monday, then which was the last day of the year? / 'Qﬁ'

v &1 uyH faT (@ iftrad & srerman) FHar o1, 9 9 $1 S fa= i ar ur?
1. Tuesday / IR

2. Wednesday / §YdR
3. Monday / AR
4. Sunday / JfAaR

Correct Answer :-

e Monday / AR

12) If MAHESH is coded NCIGTJ, then how is NEELAM coded? / af& MAHESH &Y NCIGTJ & Difed faar sirar

§, A1 NEELAM &) &9 SISd fohar S
1. OGFNBO

2. OGFNBN



3. OGGNCO

4. PFGMCN

Correct Answer :-
e OGFNBO

13) If MANAGER is coded NBOBHFS, then how is DIRECTOR coded? / Gf¢ MANAGER ® NBOBHFS A ®ifsd

forar SiTaT 8, A DIRECTOR ) A Fifea forar smam?
1. EJISFDVPS
2. EJISGDUPS
3. EJISFDUPS

4. EJSFDUPT

Correct Answer :-
o EJSFDUPS

14) India Gate was built as a memorial to the soldiers of / E'%'QT ﬂ?, g ﬁﬁﬁﬁ * WHRD * *q s |
CoICLRIE R

1. Bangladesh War / SIS g
2. World War 11/ fgdita fdy gg
3. World War I/ 91 fay g

4. Indo-Pak War 1965 / UHRd-UTP & 1965

Correct Answer :-

« World War I/ 94# fay g

15) India’s First satellite was named after ./ HRd T Ygdl 3UdT & FTH U= @1 T YT
1. Varahamihira / TRTE’&I'%T

2. Ramanujam / XTHIISTH

3. Bhaskara / HIXehX

4. Aryabhatta / 3TIHE

Correct Answer :-

o Aryabhatta / GTI'd‘J-IE'

16) Who was the first woman to win the Jnanpith Award? / 3|'F|Tﬂ3 YRIPR KiGE qrell UYH II'%?IT a-ﬁ=r g2
1. Prathibha Ray / UTqHT X

2. Ashapoorna Devi / \3‘ITQ'I'|'CLUTT adt

3. Mahasweta Devi / II—E!T%'HT a’aﬁ

4. Indira Goswami / 3@?‘[ Tﬁﬁ'ﬂ:ﬂ



Correct Answer :-

» Ashapoorna Devi / W{Uﬁ adt

17) Against which dam was Narmada Bachao Andolan started? / fora giy ¥ faeg v TaTsh Sriciad UR™
T o ur?

1. Sardar Sarovar Dam / IRGR IR &Y
2. Bargi Dam /AT Y
3. Tungabhadra Dam / gTHGT S1Y

4. Bhakra Nangal Dam / HIREST 99T &Y

Correct Answer :-
e Sardar Sarovar Dam / 9RQRR WIR Y

18) In a certain code language don kon bon means he is bad, tak bon kon means he bad man and kon don fil means
water is bad. Then in that code language the words for water man can be / T WA IS HTNT H don kon bon BT A
he is bad, tak bon kon BT 31 he bad man 3R kon don fil PT 31 water is bad BT %l B PIS HTNT | water man &
fore fa wiee &1 S\ forar T @2

1. moka bon
2. tak fil
3. tak don

4. fil kon

Correct Answer :-
o tak fil

19) In a certain language hist men polt means my history book and polt hosg disa means history of India . Then in
that language the word polt is used for: / Th T HIHT ﬁ, hist men polt BT 3 f my history book MR polt hosg disa
BT Y history of India BT &1 T IH U H polr & T ford Teg 1 gxawTe fopar T 32

1. book
2. India
3. my

4. history

Correct Answer :-

e history

20) The Kinnerasani Wildlife Sanctuary is located in / fravast a=eia IvaRuY ﬁi’m %?
1. Tamil Nadu / Affid qarg

2. Telangana / AT

3. Karnataka / ®IIc®h



4. Kerala / d

Correct Answer :-

e Telangana / GIHIE

21) A bag contains 5 red and 4 black balls. Four balls are drawn at random. In how many ways can we draw, so

that there are exactly 2 red balls?/W%ﬁsmGﬁ?4mﬂ??| Wﬁamﬁ@—lﬁ?ﬁﬂgl e
eI A 9 g U e T d § R % St 2 ara g wedt @2

1. 48
2.24
3.36

4. 60

Correct Answer :-

22) Find the next expression in the series: / WT’IT i | Gl'l'la Q'daﬁilﬁ ?ﬂﬁ:l'&':

ABA, ABBCA, ABBBCDA,  ?
1. AABBBBBCA

2. AABBBCDA

3. ABBBBBCDA

4. ABBBBCDEA

Correct Answer :-
« ABBBBCDEA

23) Find the odd one out: / TP faum WW:
3,4,6,8,12, 15,24

1.24
2. 15
3.8

4.3

Correct Answer :-

24) Find the odd combination of letters and numbers from among the following: /ﬁ"}lﬁf@ﬁ k) GT&R-T Td
HEait BT fawd Hate Jrd B

i. 9876972 ii. 9876927 iii. 9876972 iv. 9876972

1. iii



Correct Answer :-
o i

25) Senior National Football Championship Santosh Trophy in 2017 was won by / 2017 ﬁ?ﬁﬁm’v@u Wﬁ

IR Ty e w! fraa s
1. Goa / TaT
2. Jharkhand / RIS

3. West Bengal / ufgm s
4. Kerala / B3

Correct Answer :-
» West Bengal / TS ST

26) According to India State of Forest Report — 2015, which State has highest forest cover in
percentage terms? / ¥ 77 37 RYIE-2015%F AR 5w Isa A ufoxra & g &1 GaQ 981 a7 3MMavor g2

1. Arunachal Pradesh / 3RSUMIA TS
2. Mizoram / fHSIRTH
3. Andhra Pradesh / GHﬂEI%-‘ZT

4. Madhya Pradesh / ] PR

Correct Answer :-

e Mizoram / ﬁl\_rhw

27) Which leader from Madhya Pradesh became the Defence Minister first and later Home Minister in

Nehru’s cabinet? / A% U & I ATl Ag® & WANSA H Ugd &1 6t 94 3R a1 o 78 weft a2
1. Shiv Bahadur Singh / 79 §gTgR ¥

2. Ravi Shankar Shukla / Xfd i el

3. Kailash Nath Katju / BETRMTY HTES

4. Shankar Dayal Sharma / QR GaTd Tt

Correct Answer :-

« Kailash Nath Katju / SETRHIY HTeg]

28) The Khajuraho dance festival is held every year. This celebration is usually done in the month of /

TRTE! T U4 &% avf w=mn et 31 98 ud wra: fr wre ® wewn S @
1. December / TR
2. June / [T



3. September / fRaeR
4. February / TR

Correct Answer :-

¢ February / THRast

29) Panch Sheel agreement was announced by / U Xfie THSMd $1 YU 39 GIRT SI T
1. Sardar Vallabhai Patel / 9RqR dcdiH ﬂ-l'l'aF ued

2. Mahatma Gandhi / FETHT et

3. Rajendra Prasad / NSRRI

4. Jawaharlal Nehru / SIATgRdTd B

Correct Answer :-
¢ Jawaharlal Nehru/GlTﬂBW%Q?\

30) The Attorney —General of India is appointed by the / HRd ¥ HEIaTd! (Glfl':ﬁ O R) | ﬁ'ﬂ'%l
fFar gRIFI A B 2

1. Chief Justice of Supreme Court / Jate e & qoq ey
2. The Prime Minister / T8 HAT

3. The President / ?quﬁf

4. The Vice-President / 3U Tl'gcﬁ?f

Correct Answer :-

e The President / ?quf%f

31) The fifth Guru of the Sikhs was / RI@l & Uiwd == &
1. Guru Gobind Singh /'{RKW ﬁlﬁ

2. Guru Amar Das / [¥ HX ¥

3. Guru Angad Dev / TR= 3{TTG <d

4. Guru Arjan Dev /& &lﬁ:[éﬁ

Correct Answer :-

e Guru Arjan Dev / TR GlT{i:Té_q'

32) Complete the series choosing the missing letter/s: / GO S&R/A&RT BY TIDBR AT DI [T DITorg
ba_b _a a

l.a,a,a,b

2.a,a,b,a

3.a,b,a,a



4.b,a,a,a

Correct Answer :-
e a,ab,a

33) Ujjain was the capital of ancient Avanti and was ruled by / I UTNASTA Sraedt Ft Ierert ot ofiv
T BT ATHA AT

1. Rana Pratap / XTUIT YUdTd

2. King Ashoka / 9HTc M

3. King Vikramaditya / XTSI ICELIER
4. Queen Durgavati / It @h?ﬁ

Correct Answer :-

» King Vikramaditya / XTSIl faspare

34) Find the odd one out: / U% fauH JTd Fifore:
1. Uncle and Aunt / 36 3R 3fict

2. Sister and Brother / dg- GhT 1-I'Ig

3. Grandfather and Grandson / GIGI 3R aYar

4. Father-in-law and Son-in-law / X th alHl

Correct Answer :-
e Uncle and Aunt / 3{®d Gﬁ? 3fict

35) Complete the series choosing the missing number: / TGl I TAD YT Bl RT BIFOTC:
120, 60, 180, 45, 225, _

1. None of the above / s’qﬁ@aﬁ‘éq’é’f

2. 405/6

3.225/6

4. 198

Correct Answer :-

e 225/6

36) Select the option that is true about the Statements and Conclusions given: / 39 e 199 aﬁﬁrlt{
Sif AT T HyAT 3R et & a # IE 8:

Statements: /| HYH:

Some flowers are garlands / $© T JWHTT %
Some garlands are trees / P JWHITT 9& %

Conclusions: / frspH:



I. Some trees are garlands /| $© J& TSIHTT g
II. Some flowers are trees /| P T & g

1. both conclusion I and II follows / fAspy 1 aﬁ? 11 a:ﬁ SR GG %

2. only conclusion I follows / Had ey | SHFURT[ WT%'

3. only conclusion II follows / Had ey 11 SHFIRTT W%

4, neither conclusion I nor conclusion II follows / - é’f ﬁmﬂf I 3‘ﬁ? “q ﬁ ﬁmﬂf IR SR GG %

Correct Answer :-

« only conclusion I follows / Had fAspy 1 S{FART] W%

37) Select the option that is true about the Statements and Conclusions given: / 39 o 19U Hﬂﬁl'l'{

S 3T T FYAT 3R Frewut & IR # wg 3

Statements: /| HYH:
All cups are glasses / I ®u @ %
All glasses are plates / I W @ %

Conclusions: / frep:
I. All cups are plates / It sy we %
I1. All plates are cups / I wie +u %

1. both conclusion I and II follows / fspy 1 Gh? I ?ﬁ:ﬁ SR A %

2. only conclusion I follows / hddl e | ST IRAT

3. only conclusion II follows / Had B 11 SR WT%

4. neither conclusion I nor conclusion II follows / 7 &1 feape 1 3R A ﬁﬁwﬁf IT 38R B %

Correct Answer :-
« only conclusion I follows / Fad fSHY [ 3TTRUI HRT §

38) Select the option that is true about the Statements and Conclusions given: / 39 ey &1 999 aﬂﬁnz
Wif AT 7T HYAT 3R Frewul & TN § I8 ?:

Statements: / HYH:
All hens are ducks / ot Hﬁﬁﬂ CGECE %
Some parrots are not hens / $O GG EﬁfﬂT TR

Conclusions: / fAesd:
I. All ducks are parrots / gt Iaw@ aa %
II. Some parrots are not ducks / P& i ga@ A8 8

1. both conclusion I and II follows / fspy 1 Gﬁ? 11 Eﬂ:ﬁ SR B %

2. only conclusion I follows / Had ﬁmﬂh S{FURT] W%

3. only conclusion II follows / Had fspY 11 SR W%

4. neither conclusion I nor conclusion II follows /7 &1 f5HY 1 3R 7 gt fAeew 11 SR A §

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / Ep[ fspy 1 Gﬁ? - _Eﬁ fsp 11 S{FIRT] A %



39) Select the option that is true about the Statements and Conclusions given: / 39 fapeu &1 999 aﬂﬁnz S
% faw T Hy=T 3R frewef & IR et 8:

Statements: /| PY:
Some pens are pencils / P& HAH ufrer ﬁ?ﬁ %
Ruler is a pen / FITEFﬁt{?FW%

Conclusions: / fre:
1. Some pencils are pens /| PO e o %
II. Some rulers are pencils /| P9 BRI %

1. both conclusion I and II follows / FsHY 1 3R 11 G ST FRA B

2. only conclusion I follows / Had Fspy [ ST FRAT S

3. only conclusion II follows / Had fep 11 SFARTT AT

4, neither conclusion I nor conclusion II follows / = ébf frspy | GﬁT - éjf sy 11 S{FUR0T A %’

Correct Answer :-

« only conclusion I follows / Had fTshY [ SR AT

40) Who was the first woman governor of Uttar Pradesh? / 3% 'Q%QT @t q??ﬁ 'FI'%ET ITUT B A2
1. Shardha Mukherjee / RIRGT %\_rﬁ

2. Sarojini Naidu / SRIFSHT AIg

3. Annie Besant / Q:ﬂa@?

4. Vijayalakshmi Pandit / faorgaedt dfgd

Correct Answer :-

« Sarojini Naidu / SRS AIg

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / ==l T3 3T &H #, Haell
HIPfd @i Hr HRE?
" | ?
1.




- e e
is formed? / afg o= g1 @9 sfdenfta gia & o aea & @ ®l9 w1 v awed =11 §
V(L
]

1.

2.

3.

4,

Correct Answer :-



3) .
In the sequence shown below, which figure comes next? / @il T&3r a1 &# #, 3ETeIl

HII &= = H7AEA?

I I I |
I | I |
1 11 ni v
1.
2.

|
Il
3.
I
I
4.

Correct Answer :-

4) What is the area of a rhombus whose side is 4.5 cm and diagonal is 5.4 cm? /Wmﬁﬁ BT &TBd T E"-ITIT,
ot Yo 4.5 9. 8 auT ol 5.4 Jf. @2



1. 12.96 sq cm / 12.96 I A,
2. 18.44 sq em / 18.44 I Y.
3. 19.44 sq cm / 19.44 37 9t

4. 6.48 sq cm / 6.48 T AT,

Correct Answer :-
o 19.44 sq cm / 19.44 T Y.

5) The Average of 2 numbers is 24. If the first number is increased by 2 and the last number is decreased by 2.
What is the new average of the two numbers? / 2 F@Téﬁ Cal Gﬁﬂ'ﬂ 24 %I ‘Tﬁ' q‘@'?ﬂ H’@Tﬁ 2 aﬁq@ D ?:.pf 1Y
3R DI T=I A | 2 geT far s, &t 39 &) G=wmai &1 e feam g

1.24
2.23
3.20

4.225

Correct Answer :-

sth Oth 8th

6) A man spends 2/5™" of his salary on food, 3/10™ on house rent, and 1/8™" on other expenses. What fraction of his
salary is still left with him? / % e 31U AT BT 2/5 T HISH TR, 3/10 YRT TR & BT, 1/8 HIT 3= el
TR W Hdl 8 | STP U ISP da BT fraqr yrT anf oft sear 82

40
1.
£
40
2.
5 40
2
40
4.

7) A man swims downstream 12 kmph and upstream 4 kmph; his speed in still water is: / W?ﬂ% URT o1 fe=m &
12 foreft ufer der 3R T Y e fo=m # 4 faet uftr der &6 arer & oRrast e &; FRR o1a & Suat =
qdrg:

1. 8 kmph / 8 Tt Tifct ger



2. 10 kmph / 10 Tt Ufa ger
3. 4 kmph / 4 foodl Ufd geT
4. 5 kmph / 5 Tt Ufa ger

Correct Answer :-

« 8 kmph/ 8 fodt ufd wier

8) What is the time taken by a train of length 200 m to cross a bridge of length 250 m, running at a speed of 45 m/s?

/ 45 T, B AT A T arert 200 W GEIS qTelt YS! B 250 HY. W9 YA B UR HIA A fhaqn gwg @
1. 10 sec/ 10 9.
2.25sec/25 9.
3. 15sec/ 15 9.

4,20 sec/20 9.

Correct Answer :-
e 10sec/109.

9) If sum of the digits of a number is 18 less than the number, then what is the digit in the tenth place of the

number? / f¢ TP BT P 3] BT TN BT A 18 FH §, d T & <318 b ITH W B U 6= 82
1.4
2.2
3.1

4.3

Correct Answer :-

10) In an examination, 24 out of 80 students failed in English and 40 % of the students failed in Hindi, while 20 %
of them failed in both the subjects. How many students cleared both the subjects successfully / Tdh TemHso H I

24 faemff sioh A srgiivl gU 3R 409 faemeif f& & srgitvf gu, srafds 209 ufora faemdf S fawat &
3gwitof gu| fpam faamdf <= fawat o awaargds S«itvf gu?

1. 48
2.40
3.50

4.32

Correct Answer :-

. 40

11) If the average of 15 numbers is zero, then at least how many of them are positive? / Tfe 15 T=msi &1 3NTd
I 8, a1 3T A $U A $H fFa- BT ¢HTHS 82



1.75
2.1

3. Zero / }[U
4. 14

Correct Answer :-

12) Carol, whose pocket money is 2/5 that of Brenda, says, 'The ratio of my pocket money to that of Alice is 4 : 13."

If the total pocket money they have is USD 81, how much does Brenda have? / W,ﬁwﬁwéém%ﬁa@if
P12/5 8, FEdl 8, W NG W $T Ui & S A 3JUTd 4 : 3 81 IS I a1 od T 81 MARP STeR €,
a1 AT BT 9 T fpar 32

1. USD 12/ 12 BIeR
2. USD 30/ 30 STelR
3. USD 34 /34 IR

4. USD 39/ 39 SIaR

Correct Answer :-

« USD 30/30 SIeR

13) A publisher gives his distributor a discount of 30% on the printed price of the books. The distributor sells these
books to a bookseller at 20% discount on the printed price and the bookseller sells these books at the marked price.
Calculate the profit percentage made by the distributor. / T YHIRNP 3 faam® &t 'ﬂ'\‘?ﬁﬁ TR 3ifdhd TR 30%
P ge a1 2| A Tae st &Y Sifrd ea IR 20% B ge a1 8 3R [ fathar 39 [&s! 31
3ifhd Teu W 994 | faar® gRT urw frg 94 arat a4 1 wfa=ra g S|

2
13=%

=
1229%
7

Correct Answer :-

14) There are two numbers, 3 and 12. Which number should be added to both these numbers in order to make

them in the ratio of 2 : 57 / 1 YWY 3 3R 12 §1 37 G W & B AW G- NS AT 6 T 2:5 F rquTa



H gl S\
1.6
2.5
3.8

4.3

Correct Answer :-

15) A sells a watch to B at a profit of 20% and B sells it to C at a loss of 10%. If C pays Rs. 432, how much did A

pay for it? / A 3 TP UG 20% & ATH UR B I 9 3NR 3R B A 10% & a1H W ¢ B 91 Al ¢ A 432 WA F7
YITaT o, @t A A foaar Yram far are

1. Rs. 500 / 500 T
2. Rs. 400 / 400 SUY
3. Rs. 200 / 200 3T

4. Rs. 300 / 300 3T

Correct Answer :-
« Rs. 400 /400 3T

16) The average weight of 24 students of section A of a class is 58 kg whereas the average weight of 26 students of
section B of the same class is 60.5 kg. Find the average weight of all the 50 students of the class. / TTAF 24 BEHF
HR 1 3fid 58 [, 3 TTafs It & & a7 B F 26 BT & UR 71 3194 60.5 fHu1. 71 Ham & it s0 ot
T 31¥d HR 1 FIfeTg |

1.57.4kg/57.4 T
2.59.7 kg / 59.7 b
3.59.3 kg / 59.3 fam

4.58.9 kg /58.9 fpar

Correct Answer :-
« 59.3kg/59.3 fbum

17) A cistern can be filled in 10 hours but due to a leak, it takes two more hours for the cistern to get filled. What is
the time taken by the leak to empty a full cistern? / T a\_tl' 10 9 H W gl %, dfpa R & PRI, 3@ WA H
3 ee 3ftre T €1 RUTa & gR1 R 8 &1 @relt 811 A foraar wwa e

1. 40 hours / 49 e
2. 50 hours / 50 &<
3. 60 hours / 60 He

4. 30 hours / 30 °9¢

Correct Answer :-

« 60 hours / 60 ¢



18) Difference between the ages of Arun and Varun differ by 16 years. Six years ago, Varun's age was thrice as that
of Arun's. Find their present ages? / 3[%UI 3R TSI &1 3T H 16 T BT 3R 81 6 T Yd, TSV BT 3T 3FUT BT
3TY Pt &4 T < | I Feu Sy Ta B

1. 20, 36
2. 14,30
3.32,48

4.12,28

Correct Answer :-

19) Any 6-digit number formed by repeating 3 digits like 656656 or 486486 is always divisible by: / ﬁz{ Qﬁ 6 31

arelt wE o 3 oY #Y gRTgiRy g1 At fovam am 8, 99 656656 AT 486486, Td AT | TS Il 3:
1.6
2. 11
3.9

4.3

Correct Answer :-

20) A can do a piece of work in 9 days and B in 18 days. They began the work together but 3 days before the
completion of work A leaves. The time taken to complete the work is: / A forett Caukag) ﬁ_"l' | DY b dl % \?rﬁ?' B
S P H 18 AT P TPATR 1 3 TP WY 5T P B FAT Y& PRA ¢ AP P ReA F 3 A wga A
&4 B 31?1 ol 1 e A foran rar wwa

1. 5 days /5 fad
2. 8 days / 8 fa
3.7 days /7 &

4. 11 days /11 faq

Correct Answer :-
« 8days/8faA

21) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IBE]
33 T IR val § @ R A T ua & St IHH P9 91 v T 82

Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey



(i) Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey

(ii) Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey

(iii) Tuna Manallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey

(iv) Tuna Mahallesi,
Sanat Caddesi No: 17/112 Selguklu Is Merkezi

Bornova 35090 Izmir, Turkey

4. iil

Correct Answer :-

22) CANCELLED

In an election, contested by two candidates, 5% of the votes did not cast their votes. The winning candidate won by 4900
votes, securing 51% of the total votes. How many votes were cast for the winning candidate? /Ebf TRl gRT F‘l@i iG]
1 TH AT H, 5% ARN A U TAMUBR BT IUART 181 fShan| sfat arat yeam=ht 7 51% 7a ured f 3R 4900
Hdl & 3R | Sitd gTiRYe 3t | St arer g &1 fa= #a e

1. 35,700
2. 35,500
3. 36,000

4. 35,000

Correct Answer :-

23) CANCELLED

Five years ago, the ratio of ages of P and Q was 3:2. Five years hence, the ratio of the ages of P and Q will be 6: 5.

Find the ratio of the present age of P and Q./WﬁgﬁPGﬁ?Qaﬁ\iﬂgW\ﬁW&Z YTl WﬁW,PGﬁ'{Q



BT TG BT M 6:5 TR P 3R Q BT TAHT 3G 7T 3iHd J1d HIfoIQ|
1.9:7
2.6:5
3.12

4. 7.9

Correct Answer :-
e 0.7

24) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /R a

TS e #, 3erRY 3N T=si &1 U HH fAfed &1 Tad JuieH ugdn-g:
i. tyui8001yuti

ii. tyui8001yuti

iii. tyui8001yuti

iv. tyui0081yuti

4. iii

Correct Answer :-

25) Find the average. / 3Nua e
17,19, 25, 29, 33 & 27

1.29

2.25

3.31

4.24

Correct Answer :-

26) If the length of a rectangle is increased by 5%, then its area will increase by: / gfe 3maq ot m T 5% P q@ L3

& WIT, & 3 S & Fre gf g
1. 10%

2. 5%

3.7.5%

4. 25%



Correct Answer :-

e 5%

27) If2p-5=p+7,thenwhatisthevalue0fp?/ﬁ?ﬁ2p-5=p+7,?ﬁp$[qﬁwm?
1. None of the above/mﬁﬁ@éﬁ

2. 12

3.10

4.13

Correct Answer :-

28) In a family of three members, three years ago, the average age was 22 years. Due to the birth of a new member, the

average reduced to 19 years. Find the present age of the new born/?ﬁqwmﬁWﬁ,?ﬂqaﬁgﬁ, aﬁwwrrg 22
i Y | T T TG & 5 F 916, 3T °e HX 19 T4 ¥ AT A TSI B g FId Piforw]

1.4years/4a'5f
2.3years/35|'5f
3. lyear/laﬁ

4. 2years/25|'5f

Correct Answer :-
e lyear/1 CL

29) A shirt costs Rs. 350. If the cost is increased by 10 %, then the new cost will be: / Wl"ﬁf B AR 350 UL %I
Tfe anTa # 10 % @1 gfS g 9, <t 73 anTa A= g

1. Rs. 360 / 360 3T
2. Rs. 370/ 370 SUY
3. Rs. 365/ 365 3T

4. Rs. 385 /385 3T

Correct Answer :-

« Rs.385/385 300

30) A train is running at a speed of 60 kmph and crosses a pole in12 sec. What is the length of the train? / 60 .

A el 31 ard | ga- el YS! Th U B 12 . F IR TR A 7 1 ISt $i Aas g2
1.175m/ 175 9.
2. 200 m /200 HT.
3. 150 m /150 .

4.125m/ 125 HI.



Correct Answer :-
« 200 m /200 H.

Topic:- Science and Simple Arithmetic

1)
AB and CD are two parallel lines. PQ cuts AB and CD at E and F, respectively. EL is the bisector of
£FEB. If £LEB = 25° then ~CFQ will be: / AB 3T CD & WAL W@ g1 AB 3T CD FI

PQ FHY: E X F W FIedr §1 EL ,FEB F &=+ gl Ifg ~LEB=25°, a ~CFQ gR:

P
A g B
] :
C_F D
Q

1. 140"
2.130°
3.50°
4.25

Correct Answer :-

o

« 50

2)

V33, iE
The value of —is: / — T AA &:
4867 ja\.-'ﬁ E-
19
1.
17
2.
9
17
3.
11
17
4,

Correct Answer :-



3)
Which of the following is equivalentto (3 ¥ x ( y?/foeat # ¥ &l Sy x (2) & waseT 2

w
r.nl"'

U‘H,_.

4.

Correct Answer :-

1
6
4) 22 5
Find a positive value of x for which the given equation E e satisfied. / x T YdlcHF HAA
x%—9 5
A9 FY, 5w o foar 2 gdsRor-— =~ ¥ 2
1.3
2.2
3.1
4.4

Correct Answer :-

5) Birds like kites and eagles can see very well in the day due to: / faferal Gﬁ'\’ RIE2CH aﬁ tl&ﬂ ﬁ? s | 3‘\‘@? DPRUT
9gd IS WRE A W IHa

1. Absence of cone cells as well as rod cells /%ﬁﬁm&ﬁawﬁﬁaﬂﬁi Gl Gﬂlﬂ@ﬁ
2. Equal number of cone cells and rod cells /WQT@TﬁQ@ﬁW 3R AT BB U
3. Large number of cone cells /E@Wﬁwm&ﬁ

4. Large number of rod cells / 81 T T cTeHT HIRABIAT

Correct Answer :-



« Large number of cone cells / S5 T&AT T g HIRIBTS

o o
6) ABC is a triangle inscribed in a circle with center O and if LOAB =30 and LOCB = 40 , then 'LABC =

/ ABCTEF Iysr St ¥ 0 F ga A i R siR aR “0aB=30" MR Z“0CB=40 , @ “ABC=

Correct Answer :-

o

« 70

7) A man invested Rs. 240000 in three parts. On one part he gains 10% and in the second part he invested
16000 more than the first part and lost 5%. On the third he gains 20%. On the whole he gets 9% gain. The

ratio of invested parts are: /Wﬁﬁ?ﬂq U A 240000 TUA &1 fa=r fmam) ug%’f U IR 39
10% ATY UTGT fHaT SR gIR WRT H I Ugd U & 16000 S fa=r fasam 3R 59, &1 g1 g5
TR U A, 3T 20% 14 U faan | wyef uR I 99, @y ure a1 AR yur @1 srguTa @

1.4 :5:6
2.3:4:5
3.2:3:4
4.1:2:3
Correct Answer :-

e 4:5:6

8 Ina parallelogram ABCD, the bisectors of <A and “B meet at O. The measure of “AOB is: / T

THiaR agds ABCD #, “A 3R “B & fguei® 0 WR firad &1 “A0B 1 AU §:

1.120°

o

2.90

Correct Answer :-

o

* 90

9) A square field of side 60 m and a rectangular field of length 80 m have the same perimeter. Then which

of the following is true? / 60 HieX &t Hmmﬁmaaaﬁ?sotﬁaaﬁmaﬁamwaa%



TRAM I S| e g A A AT §?

1. Area of the square field = Area of the rectangular field / THR &7 BT &AHd = SAADR &F HT &THA
2. Area of the rectangular field = Area of the square field / STIATBR &3 F1 &THA = TNMHR &F BT AAH

3. Area of the square field = Area of the rectangular field / TR &F BT &THA = HAAIGR &F BT &THA

4. The difference between their areas is 1200 m? / Jd AHA! BT 3R 1200 Hie2 %

Correct Answer :-
« Area of the square field = Area of the rectanqgular field / TTER &7 &1 &G = SMAATGR &F HT &THA

10) A girl buys 4 chocolate for Rs. 3 and sells them at 5 chocolates for Rs. 4. How much percentage loss or

gain does she make?/@ﬂgﬁ33@ﬁ4m€%mﬁmm%3ﬁ?4mﬁs
Aidpde & AT A 37 a9t 31 98 fhaa wia=ra g1f+ a1 & wrea ot 82

Gain 6 ; % /T 6 5 %
1.

Loss 6 5 % /BT 6 5 %
2.
3.Loss 2%/ Ell?‘l 2%

4. Gain 2% [/ °H 2%

Correct Answer :-

Gainﬁga-afwaq 52%

11) Ifx—y=4andxy=21,thenthevalueofx2+y2is:/uﬁx—y=43ﬁ?'xy=21,?ﬁx2+y23‘ﬂ'ﬂﬂ%:
1.48
2.58
3. 16

4.26

Correct Answer :-

12) A water tank is 3 m long, 2 m broad and 1 m deep. How many litres of water can it hold? / T L

Bt TPt 3 Wiew ddl, 2 Hex A 3R 1 Hiex 158 B 1 g5 fraq dier uril &1 7@ 9 dl 82
1. 60 liters / 60 ¥ICX

2. 60000 liters / 60000 T

3. 6000 liters / 6000 TCY

4. 600 liters / 600 R



Correct Answer :-

« 6000 liters / 6000 e

13) A die is thrown. The probability of getting a number greater than 6 is: / T UTHT TepT SITdT %’I 69

IS =T UT B B w8

d:
2

[« I

3.1

4.0

Correct Answer :-

14) Which one of the following numbers is a cube of rational numbers? / g & @ P19 I S ufig
HEI3M BT 99 72

54
128

2.
3.0.04

4. 0.004

Correct Answer :-

34

128

15) The remainder obtained when 8x* + 14x3 — 2x2 + 7x — 8 is divided by 4x2 + 3x — 2 is: / OTq 8x* + 14x3 —

2x2+7x—83ﬁ4x2+3x—2ﬁﬁmﬁrﬁmm%?ﬁmﬁW%
1.8x—-6

2.8x+6

3. 14x + 10

4. 14x - 10

Correct Answer :-

 14x-10



16) The last digit of the number (986)°80 is: / T (986)78¢ BT 3ifaH 3 %:
1.6
2.2
3.4

4.8

Correct Answer :-

17) The part which makes eggs is: / ¢ YT S ﬁm%
1. Pistil / TR
2. Calyx /Wfﬁ&ﬂ
3. Stamen/w

4. Corolla / aﬁ-g\_yf

Correct Answer :-

« Pistil / TP

18) An uncontrolled nuclear chain reaction forms the basis of: / Tdh Sfafa Afyestg %IEFIT 3fuferar & fAfdfa
TR PTSMURE :

1. Biogas plant /e T T
2. Hydro electric power station / SIc] ﬁ@qﬁ RUESESRIC
3. Nuclear reactor / AHDIY KU

4. Atom bomb / URHTI[ dH

Correct Answer :-
* Atom bomb / UIHIU] §H

19) A man weighs 72 kg on the earth. His mass on the moon will be: IT{@WWE{% P HR 72 fooum. %I DT
AT W A gow ghm:

1. 36 kg / 36 T,
2. 12 kg / 12 fourm,
3. 16 kg / 16 fouL.

4. 72kg / 72 o,

Correct Answer :-

« 72kg/72 UL

20) Ureais a ./WW_%'



1. nitrogenous ferﬁlizer/?@ﬁm
2. phosphatic fertilizer/ TP C] AP

3. potassium fertilizer / TCTRIOH Jaep
4, ferrous fertilizer/?ﬁ%ﬂ'qw

Correct Answer :-

* nitrogenous fertilizer / 3?; S SARB

21) Robert Hooke discovered cells in 1663. What was the specimen that he used to observe cells? /ﬁﬂéﬁﬁ 1663 |

PIRTH1SM BT Wi B | PIRASTH F Sraeie & g ufiexl & wu & = § & a9+ feaeT s fean
1. Phloem / TRITTH

2. Xylem / SITgeH

3. Cheek cells / TTTel &1 PITRIBTSHT

4, Cork tissue /EF\I% P Hdd

Correct Answer :-

« Cork tissue / I P Hab

22) Which is the most active type of blood cells, when one gets infectious fever? / SId it safea &Y S fia saR F-T
STdT 8, 99 B W1 39 BIRBTE Jatfies afea gidt 82

1. Plasma / STiagd

2. WBC / SsegaTs!
3. RBC / 3R

4, Platelets / WCTICH

Correct Answer :-

« WBC/ Ssegald!

23) Identify the non-infectious disease from the following: / T A 9 AT TS T @t Ygdid BN
1. Syphilis / Ffthferg

2. Rabies / Y&Tol

3. Goiter / ¥€T

4, Cholera /%\_;IT

Correct Answer :-

. Goiter /99T

24) Growth hormone is secreted by: /q@aﬁﬁsﬂ%mmﬁaﬁﬁ%
1. Liver gland / I %Y



2. Pituitary gland / Gy %Y
3. Thyroid gland / 3fag UfY
4. Adrenal gland / 3fqa® U

Correct Answer :-

« Pituitary gland /lﬂqﬁf‘jﬁ

25) River Yamuna is polluted near Delhi due to: /21'5=|T=|€f, ﬁﬁﬁ%wugﬁa%,mw%z
1. Water animals / Ot § X dTd] STHAR

2. Rivers joining it /mﬁsﬂﬁmm

3. Discharge of untreated sewage / WWW%‘T

4. Thermal plant on its bank / 9% dc TR YH e

Correct Answer :-

« Discharge of untreated sewage / WWW%‘T

26) Bone matrix is rich in: / 3 ﬁﬁ?\q THH A gidl f
1. Phosphorous and potassium /W\W 3R TRy

2. Calcium and phosphorous /Wﬂ @TWW

3. Fluoride and calcium / TIRTSS 3R HfaH

4, Calcium and potassium / gy 3R Uiy

Correct Answer :-

e Calcium and phosphorous | ST 3R BIRBRY

27) A place where animals are protected in their natural habitat is called . /de ®H Gﬁmg 3

WPt Smard § WRfE f6d o §, Heardl ¢l
1. Garden / I

2. Cage / USRI

3. Zoo / fafsareR

4. Wild life sanctuary / 91 S 3HIRTG

Correct Answer :-

« Wild life sanctuary / =9 Siid {HIRTY

28) One natural phenomenon which cannot be predicted is: / T Wﬁﬁ? e &t qaiﬁqrﬁa gl @I S gHdt
E

1. Floods / dle

2. Cyclonic storms / IehdTdl qWT



3. Rain /81
4. Earthquake / HbU

Correct Answer :-

« Earthquake / YU

29) The radiations absorbed by ozone are: / 3= aRT Sraanfya fafezol %
1. Gamma rays/ﬂTﬂTW

2. X-rays /TER

3. Infra red rays / 3avad fhvuf

4. Ultraviolet rays / TRISTHT fopof

Correct Answer :-

« Ultraviolet rays / GRTSTHY fopof

30) When metals react with acids they form corresponding salt and . | S19 UTq 3%l & 91y fuferar
FCl @ ot 98 dSJIR THS qUT T 81

1. chlorine / FARMA

2. oxygen / Sffqite

3. hydrogen / EE@TSFT

4. hydroxide / EI'IEE}I'W

Correct Answer :-

e hydrogen /% 33-A|G|:I



